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JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY, WAKNAGHAT
TEST -2 EXAMINATION- 2016
M.Tech (ECE) 2™ Semester
COURSE CODE: 10M11EC211
COURSE NAME: Advanced Digital Signal Processing
COURSE CREDITS: 03

Note: All questions are compulsory.
Carrying of mobile phone during examinations will be treated as case of

Write your assumptions clearly, if it is required.

1. Consider a narrowband spatially propagating signal with a

/\.
onan M = 2 element ULA from an angle @ = 0° wit
purposes, let the temporal content of the signal b pu !
a. Let the time of arrival of the pulse at the Sor be t = 0. At what time does the signal
arrive at the second sensor? 4
b. Do any other angles @ produce:the same delay between the sensors? Why?
¢. A
impinges on this senser? .
o A, eV
2. An ARMA process has g itoc rre';‘ﬁ,;ion {Vxx (M)} whose z-transform is given as
1
> <l|z| <2
'r\ %
ctermine th dilter H(z) for generating {x(n)} from a white noise input sequence. Is H (2)
%a Explain.
termine a stable linear whitening filter for the sequence {x(n)}. [6 marks]
s, Fil ank spaces[ 3 Marks]
%@ % & Satial part of the processor is an aperture (or antenna) for the continuous space domain and

%b an for the discrete space domain.
“b. The array configuration consists of two parts. The first part is the of the

individual elements and the second part is the
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4. Assume a uniform linear array given below where N is even.

Z  Polar angle
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